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R1 = 3 K r1 = 2 K R2 = 4 K r2 = 3 K m1 = 100 K
m2 = 10 K m3 = 5 K m4 = 13 K S = 128 K
cosα = cosβ = 0,6 L
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R2 = 4 K r2 = 2 K m1 = 4 K m2 = 15 K m3 = 13 K
m4 = 12 K S = 132 L
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R2 = 4 K r2 = 2 K m1 = 4 K m2 = 10 K m3 = 10 K
m4 = 12 K S = 36 L
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R2 = 3 K r2 = 2 K m1 = 13 K m2 = 5 K m3 = 24 K
m4 = 10 K S = 80 L
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R1 = 5 K r1 = 3 K R2 = 4 K r2 = 2 K m1 = 4 K m2 = 15 K
m3 = 10 K m4 = 12 K S = 123 K cosα = 0,8 L
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R1 = 4 K r1 = 3 K R2 = 3 K r2 = 2 K m1 = 7 K m2 = 10 K
m3 = 6 K m4 = 10 K S = 99 K α = π/3 K β = π/3 L
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R1 = 5 K r1 = 3 K R2 = 4 K r2 = 3 K R3 = 5 K r3 = 3 K
m1 = 9 K m2 = 12 K m3 = 12 K m4 = 13 K S = 184 K
α = π/3 L
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R1 = 4 K r1 = 3 K R2 = 5 K r2 = 3 K m1 = 35 K m2 = 10 K
m3 = 15 K m4 = 12 K S = 216 K α = π/3 L
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R2 = 5 K r2 = 3 K m1 = 10 K m2 = 10 K m3 = 15 K
m4 = 12 K S = 47 L
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R2 = 5 K r2 = 3 K R3 = 3 K r3 = 2 K m1 = 2 K m2 = 10 K
m3 = 15 K m4 = 15 K S = 84 K α = π/3 L
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R2 = 4 K r2 = 2 K m1 = 5 K m2 = 10 K m3 = 1 K
m4 = 15 K S = 31 K cosα = 0,6 L
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R1 = 3 K r1 = 2 K R2 = 3 K r2 = 2 K m1 = 10 K m2 = 10 K
m3 = 5 K m4 = 10 K S = 35 K α = π/3 K cos β = 0,8 L
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R2 = 4 K r2 = 2 K m1 = 10 K m2 = 6 K m3 = 24 K
m4 = 15 K S = 86 L
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R2 = 3 K r2 = 2 K m1 = 13 K m2 = 10 K m3 = 24 K
m4 = 13 K S = 96 L
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R1 = 3 K r1 = 2 K R2 = 5 K r2 = 3 K m1 = 10 K m2 = 13 K
m3 = 18 K m4 = 15 K S = 112 K cosα = 0,8 L

234353 6 78^ 7 pA;=A:<= SPW_ fP OT<=AF

S

�

H

G
I

J

R2 = 4 K r2 = 3 K m1 = 6 K m2 = 15 K m3 = 12 K
m4 = 10 K S = 86 L
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R2 = 3 K r2 = 2 K m1 = 2 K m2 = 10 K m3 = 13 K
m4 = 13 K S = 38 K α = π/3 L
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R2 = 5 K r2 = 3 K m1 = 10 K m2 = 13 K m3 = 15 K
m4 = 15 K S = 106 L
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R2 = 4 K r2 = 3 K m1 = 8 K m2 = 12 K m3 = 12 K
m4 = 13 K S = 135 L

234353 6 7Mg 7 s OmOZ<:<=? > ?P OE A_
>_FORP?=<=:?

H

G

S�

I

J

R2 = 5 K r2 = 3 K m1 = 15 K m2 = 4 K m3 = 30 K
m4 = 13 K S = 188 L
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R1 = 4 K r1 = 3 K R2 = 5 K r2 = 3 K R3 = 4 K r3 = 2 K
m1 = 35 K m2 = 13 K m3 = 12 K m4 = 12 K S = 216 K
α = π/3 L
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R2 = 5 K r2 = 3 K R3 = 3 K r3 = 2 K m1 = 3 K m2 = 13 K
m3 = 15 K m4 = 15 K S = 92 K cosα = 0,8 L
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R2 = 5 K r2 = 3 K m1 = 12 K m2 = 8 K m3 = 20 K
m4 = 13 K S = 129 L
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R2 = 3 K r2 = 2 K m1 = 3 K m2 = 12 K m3 = 13 K
m4 = 13 K S = 123 K α = π/3 L
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R2 = 4 K r2 = 2 K m1 = 10 K m2 = 13 K m3 = 6 K
m4 = 12 K S = 82 K cosα = 0,6 K β = π/3 L
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R2 = 5 K r2 = 3 K m1 = 15 K m2 = 16 K m3 = 24 K
m4 = 15 K S = 232 L
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R2 = 5 K r2 = 3 K m1 = 6 K m2 = 12 K m3 = 4 K
m4 = 15 K S = 111 K cosα = 0,8 K β = π/3 L


